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BT4/M06 8755
Mathematics—II1 ‘
Paper : MaE-201/202

jme : Three Hours] [Maximum Marks : 75

bote :— Attempt FIVE questions, ‘_'sglecting at least ONE question from
: each part. ;
\ PART-A

T

5x+12
Evaluate N {m} interval of differencing being

unity.
Apply Bessel formula to obtain Y, given that Y, = 2854,
102, Y, = 35445, ) = 3992.

d
D stands for differential E’ prove that

2 3 {
D = l A _A— +’A_’ T essssssesccace -'(‘1 \
h y = w ("
' . K
and hence find Df(0) from the following table :- -~
x QeemmenO S48
4 8 15 6+ J
fx) o
' 0= ' 1
Using Simpsen's %.ef:MC, evaluat —-; dx correct to

two decimal places by dividing gx al in the four equal parts.
e : S N 3 ;
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3. (a) Solvethe difference equation
¥ Y OV = g k)
(b) Using Regula Falsi method find one of the roots of the equation,

-

correct to three decimal places F-
x}-4x-9=0
4. (a) Using Newton Raphson method, find the real root of
x log,x — 1.2 =0, correct to five decimal places.
(b) Using Modified Euler's metheod, solve d%x =x+Yy’ atx=0.6

in steps of 0.2, given thaty =1 at x = 0.

PART-B
5. (a) Forma partial differential equation, by eliminating the arbitrary + |
function
A
z=e"Y(x - y) -

(b) Using Charpit's method, solve the partial differential equation

p(1 +q)=qz. e
6. (a) Solvethepartial differential equation i ;
YP-xyq=x(z-2y).
(b) Solve the partial differential equation
(D? + DD'—6D"*)z = cos(2x + y).
© 7. (a) Usingthe method of separation of variables, solve

s :
6—121- ¢—?£+8u, given thatu'= O,Qu— =1+e™”
oy ox

when x = 0, for all value of .
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o’v
a 2
when x =0, for all value of t and v =0 when x is very large.

PART-C

ov
(b) Find the solution of e = K — having given that V= V_sinnt

8.  Explain Frobenius method to solve a second order differential equation
in series and hence solve

Xy 'ty +xy=0
9. (a) Show that

j —(x) \/i {—s cosx}

(b) Show that

a0+ L, 0] -2 [lo0-22 7 o).

(c) Show that

2n+1
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